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2. Answers
a. 95%
b. 97%
c. 80%
d. 99.9%

4. Let X be the interpolation error. Then 
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. Also, n = 74.
a. 
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, and a 95% confidence interval for the mean interpolation error is 
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b. 
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, and a 98% confidence interval for the mean interpolation error is 
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c. The margin of error, E (also called the bound B in the text), is 
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, so 
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. Thus (3.2 cm, 4.4 cm) is a 72% confidence interval.

d. 
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, after rounding up.

e. 
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, after rounding up.

12.  (See exercise 5)

a. A 95% lower bound is 
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b. 
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or 97.72% (approximately 97.5%) confidence.

20. iii) One-half as wide
a. True
b. False

c. False

_1333295694.unknown

_1333295947.unknown

_1333296339.unknown

_1382034257.unknown

_1428243224.unknown

_1333296208.unknown

_1333295795.unknown

_1333295898.unknown

_1333295766.unknown

_1333295455.unknown

_1333295524.unknown

_1333295428.unknown

